Drawings by Dan Zinn

% Cut %”angle front to back To Pitch Roof

A
-t 53" >
Target Mat Supports
1 1| e<=—14" Retention Pin Hole— %” 12" x 48" PT Plywood
‘|‘ I~ i % “ Eye Bolt
o ==
= =3 . 12" 12"
X
o
N 2
N
o
(s}
=2
N
N
Y + Bottom Vertical Cross Brace 2 x 6 vy
Foot Cross Brace | . &
] [ ] s cut Y Ny Attach post to foot %” x 8" LS
A Post must be square
< 60" > - 4'-0" >
Bottom Target Cross Braces —»>| la1"—
1E s ° s —L e LDetail— [] 9/16" Hole
r_ 12" I_ 2ea.2x4--5/16x4"CB ﬂ 1" ! Hole for %” threaded tension Rod
- 5 End View

yn
17 2ea. Target Bottom Cross Brace 2 x 6 ol L 1w
2

2 ﬂll— o _
HE N A=t il h C xa &
- 60 - |<—52 ‘/z—>|

Foot Cross Braces 2ea. Target Top Cross Brace 2 x 6 x 64
1% 13" 2ea. Target Top Cross Brace 2 x 4 x 64
o (3
: : lea. Bottom Vertical Cross Brace 2 x 6 o 1% i o o p _L1 3
| T | " PR
» " 2ea.2x4--5/16 x5"LS 12"
—— 1-1/2 — " — - 12 I_ ﬂ
1 y” | / 1 1/2 ‘|| 1 1/11 1 %” | | 6"
o o 2
S ¢ 2ea. Front & Rear Cross Brace 2 x 6 o ° ° °
T T !
—r 1-3/4” 1-3/4" ;|I~ [t 60" >‘
[t 60"

\\NAS\Public\Archery\Target Drawings\ | Target Drawing-2a.2.vsd 3/13/2016 See Material List for Details Drawing Not To Scale



A.Ron Carmichael
Typewritten Text
Drawings by Dan Zinn


Roof Detail "W 1 [ _H

Install Corrugated panels with approx.
2" overhang front and rear.
Install Rear Panel first.

17
45% 60 1/4"

<_
Fit to Outside of Vertical Posts_ﬁ

o
o

oo

| 41"

—

38”
11
H )
1|I
Drill %” holes 1" Left & Right of Center

2ea. 2" x 4" Rear Vertical Brace
Drill on site. %” x 4" LS.

Each Side

-t 63 1/4"

15 3/4:‘ ’415 3/4
«——31 5/8"

Cut List:

5ea 2" x 4" x 38" PT Studs

2ea. 2" x4" x 63 %" PT Headers
Attach with 3 %4” Deck Screws

Assembly Tools:

%" Socket Metal Roof Screws

%" Socket — 4" Hardware

7/16" Socket 3/8" Hardware
7/16" Wrench 3/8" Hardware
%" Wrench Target Tension Nuts
Mallett

Hack saw

2ea 6'+ Ladders Roof Installation
3/16", %", 3/8" drill bits.
%”,9/16", 1 3/8" Wood Drill bits

NAS\Public\Archery\1-Target Drawings\ [ Target Drawing-2b.0.vsd [ 371372016 See Material List for Details Drawing Not To Scale



Archery Target Bill of Materials

QTY |Size Length Cut Description S Each |Sub-total
414" x 4" 8'-0" 2@ 7' -0" Vertical Posts $9.17 $36.68
4" x 4" 8'-0" 2 @ (48") Feet $9.17 $0.00
4" x 4" 8'-0" 1@ (52 1/2") |Top Inside Target Cross Beam $9.70 $0.00
412" x 6" 10'- 0" 7@ (60") Top & Bottom Target Cross Beams $7.67 $30.68
2]2" x 4" 10'-0" 4 @ (60") Top & Bottom Target Cross Beams $4.97 $9.94
112" x 4" 12'-0" 2 @ (63 1/4") |Roof Front Rear Headers $5.97 $5.97
4(2" x 4" 8'-0" 5@ (38") Roof Cross Joists $4.17 $16.68
2" x 4" 8'-0" 2 @ 45 1/2" |Rear Vertical Braces (See Drawing) $4.17 $0.00
2]|2'x6' Corregated Galv Steel Roofing $6.40 $12.80
1 Simpson Strong Tie LSTA12 Makes two eyebolt washers $0.84 $0.84
1214'x8'x1/2 12" x 48" Fiber Sound Board For Target Face $10.80| $129.60

Hardware

2|1/2 x 4" Eye Bolt See Drawing $2.41 $4.82
2[1/2 x 8" Lag Screw Vertical Post Screw $1.63 $3.26
6(3/8 x 5" Lag Screw Top Cross Beam (2x4,2x6,4 x4) $0.68 $4.08
413/8" x 7" Carrage Bolt Bottom 2 x 6 thru 4 x 4 vertical post S1.46 $5.84
6(3/8 x 4" Carrage Bolt Bottom 2 x 4 to 2 x 6 front and rear $S0.61 $3.66
1213/8" x 4" Lag Screw BHM Foot $0.63 $7.56
1{1/2 x 36" Threaded Rod  |18" Tension Rods (Cut 36" Rod) $3.57 $3.57
1|1/4 x 24" Rod 2@ (12") Retention Rod $3.47 $3.47
2|1/2"x 2 1/2" |Pipe Galv Nipple |Top Cross Beam Spacer $1.44 $2.88
1211/4 x 4" Lag Screw Foot 2 x 4 Support Braces $0.38 $4.56
12|1/4" Washers Foot 2 x 4 Support Braces $0.11 $1.32
14)1/2" Washers Tension Rod, Eye Bolt, Vert. Post $0.20 $2.80
4(3/4 x 2" Washers Tension Rod washers $0.35 $1.40
28(3/8" Washers 3/8" Lag Screw/ Carrage Bolts S0.14 $3.92
4{1/2" Nuts 1/2" tension Rod $0.20 $0.80
10/3/8" Nuts 3/8" CC Washers $0.12 $1.20
201 1/2" Roof Screws Metal Roof Screws $0.10 $2.00
20(3 1/2" Deck Screws Roof Joists (53) S0.16 $3.20
12|111/2" Deck Screws Target Mat Supports (148) $0.06 $0.72
Estimated Total Cost $304.25
11/2" Roof Screws Metal Roof Screws (100 per box) $9.73 $0.10
31/2" Deck Screws Roof Joists (53 per box) $8.47 $0.16
11/2" Deck Screws Target Mat Supports (148 per box) $8.47 $0.06

* Material Pricing was done at HomeDepot.

3/14/2016 10:07 AM

Target Drawing Material List 2.0

ea.
ea.
ea.

Page 1



	Target Drawing 2.1
	Target Drawing-2b.1
	Target Drawing Material List 2.1



